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1)
Quick:
6193

What times table multiplication problem is illustrated here by the jumping arcs on the
number line?

a)
0 10 20 30 40

7 x 5=35

b)
0 10 20 30 40 50

9 x 5=45

c)
0 10 20

5 x 3=15

d)
0 10 20 30 40 50

7 x 7=49

e)
0 10 20 30 40 50 60 70

8 x 8=64

f)
0 10 20 30 40 50 60 70

7 x 9=63

2)
Quick:
6193

What times table multiplication problem is illustrated here by the jumping arcs on the
number line?

a)
0 10 20 30 40

4 x 8=32

b)
0 10

4 x 2=8
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c)
0 10 20 30 40 50 60 70

9 x 7=63

d)
0 10 20

2 x 8=16

e)
0 10 20 30 40 50 60 70 80

8 x 9=72

f)
0 10 20 30 40 50 60 70

7 x 9=63

3)
Quick:
6193

What times table multiplication problem is illustrated here by the jumping arcs on the
number line?

a)
0 10 20 30 40 50

8 x 5=40

b)
0 10 20

3 x 5=15

c)
0 10 20 30 40

6 x 5=30

d)
0 10 20 30 40 50

9 x 5=45

e)
0 10 20 30 40

7 x 5=35

f)
0 10 20 30

5 x 5=25

4)
Quick:
6193

What times table multiplication problem is illustrated here by the jumping arcs on the
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number line?

a)
0 10 20 30 40 50 60

8 x 7=56

b)
0 10 20 30

4 x 7=28

c)
0 10 20 30 40

5 x 7=35

d)
0 10 20 30 40 50

6 x 7=42

e)
0 10 20

2 x 7=14

f)
0 10 20 30 40 50 60 70

9 x 7=63

Good Luck!
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